
 

Addendum 

Following para is added below item no. 3(X) (B), pertaining to Financial standing 

(Turnover) Minimum Eligibility Criteria.  

The average annual turnover of JV will be based on percentage participation of each 

member. 

For example: 

Let Member 1 have percentage participation=M1 and Member 2 have percentage 

participation = M2. Let the average annual turnover of Member 1 be T1 and Member 2 

be T2. Then, the average annual turnover for the JV will be=(M1 * T1 + M2 * T2)/100 


